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Part | Reading Comprehension (40’ 35 minutes)

Directions: In this part there are four passages. Each passage is followed by a number of
comprehension questions. Read the passage and choose the best answer to each question.
Then, mark your answer by blackening the corresponding letter on the Answer Sheet.
Questions 1~5 are based on the following passage: - '

More than 30,000 drivers and front seat passengers are killed or seriously injured each

year. At a speed of only 30 miles per hour it is the same as falling from a third floor win-

dow. Wearing a seat belt saves lives; it reduces your chance of death or serious injury by
more than half. ‘

Therefore drivers or front seat passengers over 14 in most vehicles must wear a seat
belt. If you do not, you could be fined up to $ 50. It will not be up to the drivers to make
sure you wear your belt. But it will be the driver’s responsibility to make sure that children
under 14 do not ride in the front unless they are wearing a seat belt of some kind.

However, you do not have to wear a seat belt if you'are reversing your vehicle; or you
are making a local delivery or collection using a special vehicle; or if you have a valid medi-
cal certificate which excuses you from wearing it. Make sure these circumstances apply to
you before you decide not to wear your seat belt. Remember you may be taken to court for

not doing so, and you may be fined if you cannot prove to the court that you have been ex-

cused from wearing it.

( ) 1. This text is taken from

A. a medical magazine B. a government report

C. a legal document D. a government information booklet
( ) 2. Wearing a seat belt in a vehicle

A. reduces road accidents by more than half
B. saves lives while driving at a speed up to 30 miles per hour
C. reduces the death rate in traffic accidents
D. saves more than 15,000 lives each year
( ) 3. It is the driver’s responsibility to
A. make the front seat passengers wear a seat belt

B. make the front seat children under 14 wear a seat belt




C. stop children riding in the front seat
D. wear a seat belt each time he drives
( ) 4. According to the text, which of the following people riding in the front does not
have to wear a seat belt? h
A. Someone who is backing into a parking space.
B. Someone who is picking up the children from the local school.
C. Someone who is delivering invitation letters.
D. Someone who is under 14.
( ) 5. For some people, it may be better
A. to wear a seat belt for health reasons
B. not to wear a seat belt for health reasons
C. to get a valid medical certificate before wearing a seat belt
D. to pay a fine rather than wear a seat belt
Questions 6 ~10 are based on the following passage: \

Cindy Hess began her automotive career as a Design and Development Engineer with
Chrysler, in the fall of 1977. Today, she is Vice-President of Daimler Chrysler, and head
of the Small Car Platform Engineering Department which is directly responsibie.for the de-
sign and development of the Neon, Doge Viper, and all future small cars,

“Many different departments are involved in bringing a product to market,” said
Hess, referring to the 2000 Neon. “A company looks into renewing a particular vehicle
when its marketplace demand is good, and the profits increase our shareholder’s value,”
explained Hesé, “We look to our market research in determining which options we’ll keep
the same or delete, and which ones we want to add to improve our appeal. ”

Now that the Neon 2000 is on the market, her team will use survey and research re-

sults to determine which option packages work best for the consumer, and what improve-

ments, if any, need to be made. And the best goes on.

Hess supervises 1,200 engineers while managing a successful life as wife and mother.,
Her secret, she said, is to “always try to give 150 percent in everything I do. The only way
I can really balance my work and family is by‘cheating at both ends’. For example,” Hess
said, “I always take my boys to school on the first day of the year—so I come in a little
late. A few times a year I leave work for a couple of hours to see my son in a play or to at-
tend his swim meet, ”

Like most other successful women in the auto industry, Hess’s day begins early and
ends late. In her case, coaching her son’s basketball game ends some of Hess’s days. “QOc-
casionally,” she adds, “I come in to work on the weekends to catch up on paperwork and
mail and have also been known to be called to work while I am on vacation. ”

( ) 6. What is Cindy’s chief responsibility now?
A. Renewing promising car models. B. Supervising production,

C. Doing market research. D. Developing small cars.

R ZNE L IR L B RE DTS
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( ) 7. When will a company renew an existing model?
A. When it sells well and brings in a good profit.
B. When it needs improvement to meet the needs of users.
C. When some of its features have to be deleted.
D. When certain options have to be added.
( ) 8. What does Cindy mean by “cheating at both ends”?
A. Do things for family when she is supposed to be at work.
B. Work for the company while she is supposed to stay at home.
C. Meet the demands of both family and work with a flexible schedule.

D. Balance the needs of her family against the demands of her work.

( ) 9. What is Cindy’s secret of success both as a business executive and a woman?
A. Hard work. B. Loyalty.
C. Enthusiasm. D. Creativity.

( )10. Which of the following statements is true of Cindy?

A. She always makes sure to attend the big events in the life of her sons.
B. She comes to office on most weekends to catch up on her work.
C. She always gives priority to work rather than to her family.
D. She seldom has time to take a holiday.
Questions 11 ~15 are based on the following passage:

Recently, one of my best friends Jennie, with whom I have shared just about every-
thing since the first day of kindergarten, spent the weekend with me. Since I moved to a
new town several years ago, we have both always looked forward to the new time a year
when we can see each other.

Over the weekend, we spent hours and hours, staying up late into the night, talking

about the people she was hanging around with. She started telling me stories about her

new boy friend, about how he experimented with drugs and was into other self-destructive
behavior. I was blown away! She told me how she had been lying to her parents about
where she was going and even stealing out to see this guy because they didn’t want her
around him., No matter how hard I tried to tell her that she deserved better, she didn’t be-
lieve me. Her self-respect seemed to have disappeared.

I tried to convince her that she was ruining her future and heading for big trouble. 1
felt like I was getting nowhere. 1just couldn’t believe that she really thought it was accept-
able to hang with a bunch of losers, especially her boy friend. v

By the time she left, I was really worried about her and exhausted by the experience.

It had been so frustrating that I had come close to telling her several times during the

weekend that maybe we had just grown too far apart to continue our friendship, but I

didn’t. I put the power of friendship to the ultimate test. We’d been friends for far too
long. I had to hope that she valued me enough to know that I was trying to save her from

hurting herself. I wanted to believe that our friendship could conquer anything.




A few days later, she called to say that she had thought long and hard about our con-
versation, and then she told me that she had broken up with her boy friend. 1 just listened
on the other end of the phone with tears of joy running down my face. It was one of the

truly rewarding moments in my life. Never had I been so proud of a {riend.

( y11. What word best sums up Jennie's boy friend?
A. A drug user. B. A loser.
C. A trouble maker. D. A criminal,

( )12. What was the attitude of Jennie’s parents towards her relationship with her boy
friend?

A. They were rather tolerant.
B. They were indifferent to it.
C. They thought their daughter deserved a better friend,
D. They did not allow her to continue it.
( }13. How did the author react to Jennie's relationship with her boy friend?
A. She tried her best to dissuade Jennie from continuing it.
B. She threatened to break up with Jennie if her advice was ignored.
C. She was overcomed with pride that Jennie told her about her boy friend.
D. She was very angry with Jennie for choosing such a friend.
( )14. How did the author feel when Jennie told her she had broken up with her boy

friend?
A. She felt relived, B. She felt happy and proud.
C. She felt frustrated and angry. D. She felt exhausted.’

( )15. What message does the author try to convey in this passage?

A. The power of true friendship can conquer anything.
B. Young people should be careful in choosing their friends.
C. Drugs can destroy innocent young people.
D. Jennie is my best friend.
Questions 16 ~20 are based on the following passage:

Interpersonal conflict typically involves a relationship that has a sequence of conditions
and events tending toward aggressive behavior and disorder. However, conflict can also be
viewed in terms of its background conditions, the feelings of the involved parties, their ac-
tual behavior, and the consequences of their behavior. /

Conflict is an organizational reality that is inherently neither good nor bad in and of it-

self. It can be destructive, but it can also play a productive role both within a person and

between persons. Whereas most managers seek to reduce conflict because of its negative

effect, some seek to use it for its positive effects on creativity, and motivation.
There is no “one best way” for managing interpersonal conflict, either as an involved
adversary or as a third party. Rather, there are a number of strategies involving the exter-

nal conditions, differing views, internal feelings, and outcomes. In addition, the relation-

A ZNE R I L L T Y



AR RN KA

ships of the involved parties (for example, superiors and subordinates, etc. ) and their past
histories as adversaries, allies, or relatively neutral third parties form another key factor.
The relative power of the involved parties is another consideration in deciding whether to
withdraw from the conflict, work toward controlling a conflict into a win/lose pattern, or
smooth it over with friendly acts. ‘

Conlflict as an involved participant is emotionaliy very different from conflict as a rela-
tively objective third party. Indeed, as we will see, one strength of involving t'hird parties
lies in their potential to add an objective perspective to the feelings and behavior of the in-
volved adversaries. In this reading, we view the management of conflict from the point of
view of both the adversary and the outside third party who might be a boss, colleague. -
friend, or even subordinate. Each of these roles adds its own distinct strengths and weak-
nesses.

( Y16. From this passage, we learn that
A. interpersonal conflict is typical of all people
B. interpersonal conflict tends to occur more often among aggressive people
C. when we look at interpersonal conflict, we must always listen to the opin-
ions of the superiors
D. accumulated opposition often leads to interpersonal conflict
( »17. According to the author,
A. sometimes managers can take advantage of conflicts
B. the third party in the conflict should always be fair
C. in conflict, you can always tell which party is right and which is wrong
D. the manager must settle all kinds of conflicts as quickly as he can
( )18. How could a manager deal with conflict?
A. If his superior is involved; he should be the third party of it.
B. He should punish the person who is responsible for the conflict.
C. He might consider whether to interfere with the matter or not. ‘
D. He would not consider his relationship with the two adversaries.
( Y19. Which of the following is NOT true according to the passage?
A. If the manager happens to be involved in the conflict, he had better compro-
mise. C ‘
B. There are many factors to consider before trying to settle a conflict.
C. The external conditions must be taken into account.
D. Sometimes we should deal with the involved parties in a friendly way.
(  )20. Why is a third party needed in settling a conflict?
A. He knows the emotional changes of the adversaries.
B. He can help the two adversaries think about it more objectively.
. He knows where to put strength in solving the problem.

C
D. He can control the two parties’ behavior.




Part I Vocabulary and Structure (40" 20 minutes)

Directions: Euach of the following sentences is provided with four choices. Choose the one
that best completes the sentence. Then, mark your answer on the Answer Sheet.
( y21. As working hours get shorter. people should learn how to spend their increased

in some satisfying way.

A. longer hours B. more chance  C. leisure time D. happy time
( )22. The energy companies urgent studies of the Arctic environment.
A. made B. put C. moved D. launched
( )23. Establishment of a insurance system is essential for economic reforms,
A. accurate B. sound C. undisturbed D. safe
( )24. The workers _ approved of the government’s policy.
A. moétly B. freely C. unhappily D. angrily
( )25. It took Joan some time to __ the grief at her father’s death,
A. get over B. do without C. pass away D. deal with
( )26. On hearing the joke, she burst into
A. a loud laughter B. loud laughter
C. loud laughs D. loud laughings
( »27. The conference was organized for all of the  in the state,
A. mathematic teachers B. mathematics’s teachers
C. mathematics’ teachers D. mathematics teachers
( »28. 1 have done much of the work. Could you please finish in two days?
A. the rest B. the other C. another D. the others
( -~ )29. Please goto _ to pick up your ID card.
A. third window B. the window three
C. window third D. the third window
( »30. Will you buy me stamps when you go out? ’
A. some B. any C. little D. a few of
( )31. He was admittance to the party for not being dressed properly.
A. unnoticed B. ignored C. denied D. rejected
( )32. Advertising costs are not in reasonable to the total cost of the product.
A. proportion B. connection C. reaction D. relation
( )33. He has not the idea of the problems involved.
A. worst B. faintest C. most D. weakest
( )34. Many local authorities are opposed to the introduction of comprehensive
schooling.
A. strangely . B. strictly - C. severely D. sharply
( )35. T could see a car in the distance, but I couldn’t what colour it was.

A. see through B. make out C. look out D. take in
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)36.

)37.

)38.
)39.

)40.

)41,
)42,
)43.

)44,

)45.

)46.

)47.

)48,

249,

)50,

)51.
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Mary certainly talks a lot and she’s never interested in what  has to say.

A. somebody else B. anyone else

C. nobody else D. else anyone

The large passenger jets have made the traffic problems at airports

A. the worse than before B. worse than ever before

C. morc bad as before D. more bad than it was

A dictionary of that size has  words than you need and it’s not so handy.

A. many more B. much more C. many D. much

Jim would rather we  now., but we must go to work.

A. not leave B. had not left C. didn’t leave D. not to be left
at the price list, he’d have known what to expect.

A. Had Mr. Robinson looked B. If Mr. Robinson looked

C. If Robinson would have looked D. Had Mr. Robinson been looking

Although 1 tried to concentrate on the lecture, Iwas by the outside noise.

A. confused B. distracted C. attracted D. refused

Don't  your reputation by supporting his joint venture with that guy.

A. venture B. risk C. threaten D. adventure

Salesmanship refers to the ability to people to willingly buy products.

A. persuade B. force C. cause D. recommend

Electrical energy may be divided into two compohents as positive and

negative.

A. distinguished  B. specified C. separated D. indicated

They are the potential of the Global Management Challenge.

A. exposing B. extending C. exploring D. expanding

Learning to use computers is what we want to  from the program.

A. help B. make C. aid D. benefit

The findings of those archaeologists{ % 1 % %8) the burial customs of

“the ancient Egyptians.

A. paid attention to B. gave faith to

C. threw light on D. gained insight into

Good lighting in factories leads to greater comfort, higher _ and produc-

tivity.

A. work B. proficiency C. craft. D. efficiency

The plane _ in the storm was on route to London.

A. crushing B. crashing C. cracking D. crafting

With the improvement of transportation and communications, farmers have eas-

ier to cities and towns,

A. access B. reach C. approach D. touch

When the education systems of China and Britain, the professor gave no




comment.

A. being asked to compare B. asked him to compare
C. asking him to compare D. asked to compare
( )52. The people at the party were worried about Jane because no one was aware

___ she had gone. ’

A. in which B. of where C. of which D. in that
( )53. __ in this town?

A. Whom do you think is the richest man

B. Do you think who is the richest man

C. Who do you think is the richest man

D. Who you think is the richest man

( )54. When they went into the shop and asked to look at the engagement rings, the
girl brought out the cheapest ones,  she had arranged with James.
A. those were what B. what was what
C. which was what D. in which

( )55. The farmer uses wood to build a house to store grains.
A. with which  B. to which C. which D. in which

( )56. When I took his temperature, it'was two degrees above

‘ A, common B. normal C. ordinary D. regular

( )57. Melted iron is poured into the mixer much _ tea is poured into a cup from
a teapot.
A. in the same way as B. in the same way
C. in the same way which D. in the same like

( )58. The size of the audience,  we had expected, was well over one thousand.
A. as B. that C. whom D. who

( 359. None of the servants were  when Mr. Smith wanted to send a message.
A. available B. attainable C. approachable D. applicable

( )60. Some people say that students’ progress in school is . by environment.
A. effected B. affected C. offered D. afforded

Part [ Cloze (20’ 15 minutes)

Directions; There are 20 blanks in the following passage. For each blank there are four
choices marked A, B, Cand D. You should choose the one that best fits into the passage.
Then, mark the correspondiﬁg letter on the Answer Sheet. .

In most cultures, when you meet acquaintances for the first time during a day, it is
normal to greet them. The main purpose of this greeting is to _ 61 _ a good relationship
between the people 62 , and each language usually has 63 set phrases that can be
used for this purpose. Sometimes, though. there can be considerable _ 64 in the type of

phrases that can be used, and 65 misunderstandings can easily arise. The following is
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a true story.

A young British woman went to Hong Kong to study, and at the _ 66 _ of her arrival
she knew 67  about the Chinese culture or language. _ 68 her way to school one day,
she went to the bank to get some money. To her surprise, the bank clerk asked her if she
had had her lunch before she went to the bank. She was extremely su.rprised at 69 a
question because in the British culture it would be regarded as an indirect 70 to [unch.
Between unmarried young people it can also show the young man'’s interest in 71 the
girl. Since this bank clerk was a complete stranger _ 72 the British girl, she was very
much surprised. After a moment she answered that she had already eaten quickly. Then
she went on her way to her school and was even more surprised when one of the teachers
asked her the 73  question. By now she realized that it could not be an invitation,

74  was confused why they all asked this question. In the following days she was asked

the same question again and again, and she spent hours trying to explain 75 why so
many people kept asking her this. _ 76  she came to a conclusion: the people who 77
inquiring her about the same thing must be concerned about her 78 . She was some-
what underweight at the time, and so she concluded they must be worrying that she was
not 79 very well! Only much later 80  that the question had no real sense at all—it
was only a greeting,

( )61. A. build on B. build up C. build out D. build into
( )62. A. concern B. concerning C. concerned D. to concern
( y63. A. the number of B. the amount of C. an amount of D. a number of
( )64. A. differences B. similarities C. likelihood D. changes
( }65. A. parental B. political C. cultural D. musical
( )66. A. instant B. moment C. period D. time
( )67. A. everything B. anything C. nothing D. something
( )68. A. In B. By C. On D. With
( )69. A. that B. such C. which D. so
( Y70. A. determination  B. information C. impression D. invitation
( )71. A. phoning B. hoping C. dating D. inviting
( )72. A. to B. for C. with D. without
( )73. A. same B. curious C. different D. amused
( )74. A. and B. then C. so D. but
( )75. A. with regards B. as to C. asif D. as soon as
( )76. A. In the end B. In the way C. In a way D. At the end
( )77. A. are B. have been C. were D. has been
( )78. A. culture B. problem C. salary D. health
( )79. A. thinking B. sleeping C. laughing D. eating
( )80, A. she discovered B. did she discover

C. she did discover D. does she discover
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Part  Translation (35’ 25 minutes)

Section A (20')

Directions: Translate the following sentences into Chinese (You may refer to the corre-
sponding passages in Part 1). '

1. At a speed of only 30 miles per hour it is the same as falling from a third floor window.

(Passage One)

2. Now that the Neon 2000 is on the market, her team will use survey and research results
to determine which option packages work best for the consumer, and what improve-

ments, if any, need to be made. (Passage Two)

3. Over the weekend, we spent hours and hours, staying up late into the night, talking

about the people she was hanging around with. (Passage Three)

4. Tt had been so frustrating that 1 had come close to telling her several times during the

weekend that maybe we had just grown too far apart to continue our friendship, but I
didn’t. (Passage Three) ‘

5. Conflict is an organizational reality that is inherently neither good nor bad in and of it-
self. It can be destructive, but it can also play a productive role both within a person

and between persons. (Passage Four)

Section B (15')

Directions: Translate the following sentences into English.

L FABRAF A — st ] B e s Bl

2. REBERAWIEES1 B B2 Pax AR RY

‘AR B LTS F KA
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3. BT HEY, I ZOHTF RSB IIME A RE.

4. VFBEEANBRL/MNIERE AR ARMMKETR.

5. HEEREA —MNINLEE T HARIZEC M L EE S T .

Part V Writing (15 25 minutes)

Directions: For this part, you are given 25 minutes to write on The Effects of Advertise-
ment. You should write no less than 120 words and base your composition on the outline
(given in Chinese) below:

L BRHLISEESRF TAERNE A%,

2. MUEfIEAbEY . S WA M.

3. EL, X ERAVE/DG, LR E SR




